5 o= 0094 = _ 2008H = _ _%7:.*%_(%)

= x5 = SESS EIREEE]

AH 3,069,005 =& 2,881,385 Hlg 3,083,470 Hl8 6.5 A0.5
Xoog A 583,000 @ 19.0 583,000 20.2 516,500 @ 16.8 0.0 12.9
M2 = & 222,128 7.2 232,922 8.1 295,951 9.6  A46 | A24.9
X 2w 2 A 552,904 @ 18.0 514,969 17.9 587,720  19.1 7.4 A5.9
2 I1ExF 1,546,023  50.4 1,405,544 | 48.8 1,538,349  49.9  10.0 0.5
X g S 164,950 5.4 144,950 5.0 144,950 4.7 | 13.8 13.8

A BES| A

(chol - siokel %)
2 o= 20094 & _ 20084 = _ _%%.F%_(%)

g = z 5 SEI TR ]
| 2,662,000 ®l& 2,459,700 Hlg& 2,609,325 dHIg 8.2 2.0
"S- 583,000 21.9 583,000 | 23.7 516,500 | 19.8 0.0 12.9
M2 = & 73,925 2.8 75,088 3.1 102,279 39 A1.5 | A27.7
PSI-UBTIRE L | 552,904 @ 20.8 514,969 | 20.9 587,720 | 22.5 7.4 A5.9
TI1E == 1,402,171 | 52.7 1,256,643 51.1 1,372,826 52.6 11.6 2.1
PSI-LN S 50,000 1.9 30,000 1.2 30,000 1.1 66.7 66.7

QO X| gk M : 5,83021¢2l ('08 E=rCiH| &, 2EdH| 12.9 F)
- BEA 442599 1 H54 2,540, 5=+ 1,865, W3 A 20
- 244 1,31599  FEAAA 135, AGANEA 60, AERSA 1,120
- AYA =9 909 Y

O M2l5¢e! : 73993 ('08 & =CiH| A1.5%, Z|BCHH| A27.7%)

- ARAASY 250019 1 AR 6, 4R R 41, $4249 32, A4 15

- QAHAFY 489919 1 AU ZERY 70, ol F 100, WU F 26, SATATFY 44,
WFEE 147, B9 9, AT RS

II

O XHWEAM : 552992 ('08 S=CHH| 7.4%F, Z|SCHH| A5.9%)
-HEWRA 517199, EAnRA 3589
# '08FF AWuFAE 58779Uow
- HENFAN 5373, EdAFA 358, F-EiuRAl 80, EHE-A 66

QO ZIHEZEZ: 14,0229 ¢ ('08 Z=CH| 11.6%Z, = SLHH| 2.1%35)
- YWk 8,825, w7k 53] A 4,874, 7= 323
% 08 F TR ZFL 13,7289Q 0w
- UWk=al 8,434, w7btrd 53 A 4,787, 71+ 507

O JEIH*'H% : 500°*$J (‘08 &= % 2| BCHH| 66.7%3)



EHs
O 5= (Ehel - sorel %
HAE SUE(9
5 o= 20094 = _ 2008 _ _ E’_(/o)
= z =B SEcid]| | & Schy|
A 407,005 HIg 421,685 | HIg 474145 | Hg @ A35 | Al4.2
XA - - - - - - - -
M2l = ¢ 148,203 | 36.4 157,834 @ 37.4 193,672 40.8 ~A6.1 @ A23.5
X| gk 5 A - - - - - - - -
=1 xF 143,852 | 35.3 148,901 35.3 165,523 | 34.9  A3.4 | ~131
X g xS 114,950 28.2 114,950 @ 27.3 114,950 @ 24.2 - -
O AtA| = (M2l) @ 1,482 2 ('08 &=CiH| A6.1%, =SCHH| A23.5%)
— ﬁ)\]—ﬂ/q]g]_,_%} 2730—1 0_] o]/\]ﬂ/\ﬂg,]/\ol 1,2090—1%
O ZH=F: 1,4399 2 ('08 &H=rCH| A3.4%, =[SCHH| A13.1%)
[ZIEFEHS|A : 3 ] (chol - wymrel %
(= =242(9
5o 20004 = _ 20084 _ _ E_(A:)
= z = StECiE| | #Eriy|
Al 195,485 Hl & 199,295 H| & 225,865 H| & A1.9 | A13.5
PN A - - - - _ _ _ _
Mol = & 51,633 | 26.4 50,394 25.3 60,342 26.7 2.5 | A14.4
A & w & A - - - - - - - -
=112 =xF 143,852 | 73.6 148,901 74.7 165,523 | 73.3  A3.4 | A13.1
NI S S - - - - - _ _ _

A S| A4% Zt2)
(k3] A Ad= 669999)

O U EXFHFT 2 : Mgl 13294, E.T'.E.’F_E.‘ 28

[S7IUEE A - ALV F]

=)
S| AA T 124, AXGA S

172)

HE SHE(9

5o 2000k = _ 20084 _ _ E_(A:)
= z = SHECfH| | H S|
Al 211,520 H| & 222,390 H|& 248,280 H| & A49 | A14.8
PN L - - - - - - -
M2l = ¢ 96,570 | 45.7 107,440 @ 48.3 133,330  53.7 A10.1 | A27.6

| 2w 2 A

H

|_
o
kA

ojn oj

114,950 | 54.3 114,950 @ 51.7 114,950 | 46.3




2.

E2Y Mol

W 2SI AH My

A

[ =)

2 o= 20094 & _ 2008 = _ _%7:.*%(%)

g = z 5 SEI TR

| 2,662,000 HE 2,459,700 Hlg 2,609,235 HIE 8.2 2.0
Xk A 583,000 21.9 583,000 | 23.7 516,500 | 19.8 0.0 12.9
EEA 442 500 @ 16.6 446,000 18.1 375,700 | 14.4 | A0.8 17.8
CFHEA] 254,000 9.5 256,000 10.4 195,000 7.5 208 30.3
524 186,500 7.0 188,000 7.6 178,700 6.8 0.8 4.4
3] A 2,000 0.1 2,000 0.1 2,000 0.1 0.0 0.0
=& A| 131,500 4.9 129,000 5.2 132,800 5.1 1.9 A1.0
S S AA 13,500 0.5 11,000 0.4 13,500 05 227 0.0
A 7R A 6,000 0.2 6,000 0.2 6,000 0.2 0.0 0.0

- A P2 A 112,000 4.2 112,000 4.6 113,300 4.3 0.0 AT A
XA ¢l 9,000 0.3 8,000 0.3 8,000 0.3 125 12.5
M2 = & 73,925 2.8 75,088 3.1 102,280 3.9 | A1.5 | A27.7
A M 2= 25,032 0.9 24,826 1.0 33,325 1.3 0.8 | A24.9
PO STR=El) 596 0.0 548 0.0 553 0.0 8.8 7.8
AR RS 4,074 | 0.2 3,342 0.1 4,470 0.2 21.9 A8.9
CFEERSFY 3,188 0.1 3,038 0.1 3,731 0.1 49 | A14.6
A Y 1,512 0.1 2,476 0.1 2,142 0.1 |A38.9 | A29.4
A EF49] 3,662 0.1 3,422 0.1 5,916 0.2 7.0  A38.1
o] 2+ 12,000 0.5 12,000 0.5 16,513 0.6 0.0 | A27.3
AA X M| 2| F=2 48,893 1.8 50,262 2.0 68,955 2.6 | 227 | A291
- A Ak zk= 4 7,000 0.3 1,900 0.1 1,906 0.1 268.4  267.3
CEAAIS S F 19,000 0.7 25,000 1.0 30,110 1.2 |A24.0 A36.9
ol = - - - - 1,068 0.0 0.0 |A100.0
A= 2,594 0.1 2,894 0.1 3,222 0.1 A10.4 | A19.5
B R a=n=iis sy - - - - 7,000 0.3 0.0 |A100.0
B =X =Xt 4,368 0.2 3,864 0.2 3,864 0.1 13.0 13.0
T 14,718 0.6 13,894 0.6 11,299 0.4 5.9 30.3
sl 813 0.0 2,310 0.1 10,041 0.4 |A64.8 | ~91.9
Add =9 400 0.0 400 0.0 445 0.0 0.0 | A10.1
A g 5 A 552,904 20.8 514,969 | 20.9 587,720 | 22.5 7.4 A5.9
(50 5A) 517,100 | 19.4 484,910 19.7 537,302 = 20.6 6.6 A3.8
(A A 35,804 1.3 30,059 1.2 35,804 1.4 191 0.0
(F-EAka A - - - - 8,000 0.3 0.0 \A100.0
(5E L 5A)) - - - - 6,614 0.3 0.0 |A100.0
STI1E=x= 1,402,171  52.7 | 1,256,643 | 51.1 | 1,372,735 | 52.6 11.6 2.1
e = 882,505 | 33.2 769,444  31.3 843,346 32.3 14.7 4.6
oS AE=F 487,417 18.3 438,210 17.8 478,689 183 112 1.8
J|Z2ExZ 32,249 1.2 48,989 2.0 50,700 1.9 |A34.2 | A36.4
XA g AM S 50,000 1.9 30,000 1.2 30,000 11 66.7 66.7
el = 10,000 0.4 - - - - 100.0 = 100.0
XA 7| = 40,000 1.5 30,000 1.2 30,000 11 33.3 33.3






